INSTALLATION INSTRUCTIONS

2020+ Jeep JT/Gladiator Underseat Security Box #387
(Fits Under Rear Seat)

PRODUCTS
Please read and fill out the enclosed warranty registration card or register online at:
https://tuffyproducts.com/help/warranty-information/warranty-registration/to activate your
warranty.

PARTS CHECKLIST

Security Box

SHIPPING PACKAGE CHECKLIST

0

4) #8.1 M6x18mm Screw 4) #8.2 Lock Washer 4) #8.3 Flat Washer

TOOLS NEEDED
e T-30 Torx Wrench

PLEASE READ ALL INSTRUCTIONS THOROUGHLY BEFORE STARTING INSTALLATION.

1. Remove the plastic underseat tray, if equipped, to expose threaded holes in the floor.
2. Place the 4) #8.3 flat washers over the threaded holes. (See Figure 1)

{

Call (800)348-8339 for Technical Support
Page 1 of 2 - 5/27/2022 — Rev0



https://tuffyproducts.com/help/warranty-information/warranty-registration/

3. Lower the #387 Box into place over the washers, making sure not to dislodge them(reposition if
necessary). (See Figure 2).

4. Secure in place using 4) #8.2 Lock Washers and 4) #8.1 Torx Screws.

[Ca| —\ | 2> 8]] ® - e |

uo-_l:nuSnbo

Figure 2

Call (800)348-8339 for Technical Support
Page 2 of 2 - 5/27/2022 — Rev0




